
Matching Sets
Do The Problem And Draw A Line To The

Matching Answers

9 + 9 =

21-3 =

2 + 25 =

3 x 9 =

10 + 22 =

4 x 8 =

6 + 3 =

27-18 =

8 + 32 =

4 x 10 =3 + 21 =

4 x 6 =

68 31
25 12

77 33
13 12

72 36
13 10

92 92
32 56

13 50
2 36

50 26
63 91

Magic Squares!

In this row, SUBTRACT down
and across.  Then subtract
the totals you calculated.  The
answer across should equal
the answer down.

In this row, ADD down and
across.  Then add the totals
you calculated.  The sum
across should equal the sum
down.
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